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But we usually omit m
' ②
=

and
an sides wm as the volume form.

Od = did + dd* on Riemannian

Oj = 5*2-+55 on kink

11

,Oy = 2*2 + 22 *

Also od = 02-+0 , = 205

Oif =

giiq.gr/---gI-2Zi2zTz---odf
More convenient I write 0 = Oj

f. u . 9. Xi w" = - J 0in . ✗ iw
"

M

= - / ✗ (a) ai .
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85 n=0 ⇒ on-_0

. ⇒ a = const
, /

\

of u- On =
-f a. a. pin wn

M

=
- ftiufwn

14

In = O u = crust
.

Any harmonic function on a

[ cnpact Rien mfd without boundary
is constant





There are many
results

.

But the most famous one is.⑤

Theorem ( ( Schoene, Aubin))
-

µ
(third be a compact Riemannian manifold
of dim th 23

.
Then There is a continual

metro e-g such that ite scalar ourmT]
0

qeis÷a""÷=¥
.

Putting et = uÉ
The solution u must satisfy

- you -1 Sou = s uh
,

where so is the scalar curvature of go .

There are topological obstruction to s > o
.

ltliuhiu !

Most well-known unsolved question is

Hirenbergloproblemletlsh.sn
be the unit sphere . Describe the set

q= tyke
01M ) I ⇒ e-T.at . Gaussian curator g

of e-To is K

The equation to be solved is

it or = Ke
- r



kazdan-warn.IEf k e- G- Then ⑥

ftp.adf ) K e-rdvg = 0

S2

tn f satisfying of + 2f=o .

Going back to Monge - Ampere equation

÷T+É)
= e-YTF

det Gif )
When m=l

it op = efe-9 = ke
-4 (Keef)

and has the same Type as Nirenberg 's problem .

Hinted by Kazedan - Warner 's integrability condition
I found an obstruction to the existence of
KE metric on Fano manifolds

.

Let M be a Fano manifold
,
w c- 9 IN a Kinter form.

Ric Cun - w = sit for ±F c- C- Cm )
.

flan the Lie algebra of all holomorphic vector

field on M . Fatt
. JIMI → e defined by

Fut CX) = / ✗ F Wm
or

is indep of a c- Colin )
.

If
⇒
KE metre ten Fwt=o

.


